d°N/dy,dp_ [(GeV)]]

=
S
[EE

T

|
<
N

1/N,,,

Ratio to ALICE

<
w

1074

0.5

900 GeV pp Soft QCD
I B L L A L L L R R I R
= PT(E) (vl <0.8) =
- n -
| \\ —
B o.. T |

" =

- - T m .
L .. g _
B o ]
~ = ALICE R i
| --0-- Herwig++ 2.5.1 default =~ . —]
— --i3-- Herwig 7.2.0 default © -
I ¢ Sherpa 2.2.8 default e 7
P P O Y P E Y SN IS S S I S I B
N N N
— sE —
1 1 1 1 | " 1 1 1 1 | 1 1 1 1 | 1 1 " 1 1 " | " 1 1 1 1 |

1 1.5 2 2.5 3

Rivet 3.1.0, = 5.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


